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. Complete the sentences. E)

cans of pop are equal to ]ug of orange juice.

1can of pop is equal to D jug of orange juice.

. Use <, > or = to compare the volume of liquid in each pair of
containers.

IWWED P& )

. Whitney has 3 bottles of water with 500 ml in each.
Sophie has one bottle of water with 1and a half litres in it.
Who has the most water?

Can you prove it?
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. Use the sentence stem to describe the capacity and volume of each
container.

The volume of liquid
is

TheTapaciiy of the
container is

. Identify what the scale is going up in to find out the volume in each
container. Use the stem sentence.

E The increments are
‘ in__.
The volume is 5
oy o
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Use the clues to work out who has which
container.

@ I have exactly half a litre

Annie
-@ I'have 1,000 ml
Amir

; I have more than 300 ml
E but less than 400 ml
va

A B C
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. Complete the missing information.

——

The barrel’s capacityis ____land ___

. The capacity of the full fish bowl is 8 l and 750 ml. ]

Hannah pours 5 | of water out of the bowl. @
Show how much water is left in the measuring jugs. o~
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I know container 1 has
more than container 2 in it
Eva because the water goes
further up the side.

&

Container 1 Container 2

Is Eva correct? Explain your answer.
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Amir and Alex work out the capacity of
the pot by filling it with water, then
pouring the water into the measuring
cylinders.

oo The capacity of the pot is
302 ml

Amlr
The capacity of the pot is 96
21 and 300 mL ‘
Alex
Who do you agree with?

Explain why.
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Rosie has a litre bottle of water.

=

She pours a drink for herself and two
friends. Their glasses can hold up to 250

‘990

Teddy has more than Amir.
Rosie has the most.

How much could each child have in their
glass?

How much would be left in the bottle?




